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The following values must be changed in the XML in order to change the length of the CDC to Lecdc.
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Note that this will keep the upstream end of the CDC fixed at L=17cm in the lab system. Also, it
is assumed that the FDC package spacing will be adjusted so that the downstream end stays fixed

at z=198.0+83.5+76+4.5+3 =

387cm in

the lab frame.

The width spanned by the FDC packages will then be Lfdc =

fdcl
fdcz

This

does not change the cable positions or cooling meshes.

main_HDDS.xml 2

(Lfdc -2%(4.5+3))/2
fdcl/3

line 63: ForwardDC should have z value of 17+Lcdc+23
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